61 Transmission BD KRRCHER

Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BD \ Transmission BD

Giiltig am 10.05.2018 Page1/3



61 Transmission BD
Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BD \ Transmission BD

POS

33

20
15

38
17
37
37
37

W 0 N N H W N NN H B KHBRBRB B B (B
N o o O [l

13

Article no.
7.401-173.0
6.612-764.0

Item textl:

5.112-616.0
5.112-619.0
6.610-239.0
Item textl
6.906-838.0
7.303-226.0
6.371-193.0
6.371-239.0
6.371-259.0
6.613-292.0

Item textl:

4.905-003.0
4.905-002.0
4.905-006.0
4.905-009.0
4.905-004.0
4.905-007.0
4.905-005.0
4.905-008.0
4.762-416.0
4.762-491.0
5.115-913.0
6.304-176.0
5.044-897.0
7.343-018.0
7.343-007.0
7.343-115.0
4.623-749.0

Item textl:

7.318-004.0

Gultig am 10.05.2018

Description
Ball bearing 6204-2RS-WAELZLAGST DIN 625
Blower wheel

//1.533-101/ -151.0

: ATAS

//1.533-105/-107/-109/-111/-113/-114/ -116/-119/-155/-157/-159/-161/-163/ -164/-168.0

Bush
Bush for belt drive
Carbon brush set ATAS

Centerlock

Countersunk screw M8x20-St-A3E DIN7500(!
Diamond pad brown set 5x @460

Diamond pad green set 5x @457

Diamond pad yellow set 5x @457

Direct current motor

Disc brush complete red 45

Disc brush complete red 55

Disc brushes complete black BD 45/40
Disc brushes complete black BD 55/40
Disc brushes complete nature BD 45/40
Disc brushes complete nature BD 55/40
Disc brushes complete white BD 45/40
Disc brushes complete white BD 55/40
Disk pad BD55

Disk pad complete BD 45

Flanged pulley

Hexagonal head screw M8x16-A4-70 ISO 401
Holder belt drive

Locking ring 18x1,2-Rf-St DIN 471
Locking ring 20x1,2-FST-RF DIN 471
Locking ring 47x1,75 -St-ph DIN 472
Motor replacement BD

//1.533-101/-151.0

Parallel key 6x6x12 -C45R DIN 6885-1

Quantity
4.000
1.000

2.000
1.000
1.000

1.000
3.000
1.000
1.000
1.000
1.000

1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000

1.000

Page 2 /3

Unit
ST
ST

ST
ST
ST

ST
ST
ST
ST
ST
ST

ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

ST

Foot note text

STANDARD
STANDARD

KARCHER



61 Transmission BD
Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BD \ Transmission BD

POS
10

12
18

34
36
35
23
31
11
14
19
27
24
25
28
22
30

Article no.
7.318-030.0

7.318-031.0
5.033-002.0
5.122-014.0
5.114-480.0
7.303-096.0
7.303-112.0
7.306-191.0
7.306-090.0
5.100-378.0
5.100-379.0
7.307-301.0
6.348-383.0
6.348-384.0
5.625-402.0
5.625-403.0
7.312-003.0
7.312-292.0
7.312-268.0

Gultig am 10.05.2018

Description
Parallel key 6x6x25 -C45R DIN 6885-1

Parallel key 6x6x28 -C45R DIN 6885-1
Retainer brush SWS

Retainer transmission

Ring motor

Screw 4x22 -ST-10.9-R2R (IN6RD)
Screw 6x20 -10.9-R2R (In6Rd)

Screw M6x10 -A2-70 (In6Rd)

Screw M6x16 -8.8-R3R (In6Rd)

Shaft belt drive 1 BD 530

Shaft belt drive 2

Threaded pin M10X 12-A1-50 ISO 7435
Toothed belt HTD-447-3M-15 CXPIII
Toothed belt HTD-475-5M-40 CXPIII
Toothed lock washer 63Z

Toothed lock washer 125Z

Washer 6 -200HV-A3E ISO 7090
Washer 6 -A2 ISO 7093-1

Washer 8 -A2 ISO 7094

Quantity

1.000
1.000
1.000
1.000
1.000
3.000
6.000
1.000
4.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
4.000
1.000

Page 3/3

Unit Foot note text
ST

ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

KARCHER


http://www.tcpdf.org

